If you need further support, you can watch a video tutorial about multiplying or dividing by 10, 100 and 1000 on kids.classroomsecrets.co.uk >>> Year 6 >>> Maths >>> Decimals >>> Video tutorials. 

Monday: 
[image: ]


[image: ]







Tuesday
[image: ][image: ]











Wednesday
[image: ]

[image: ]

Thursday
[image: ][image: ]









Friday

[image: ]
[image: ]
image7.png




image8.png
1. A, C and D are correct.

2. A. % B. 2‘—0 C. %, D. ;—:); C and D have prime numbers as their numerators.

3. Both children are correct because 0.15 is equivalent to 100 and 2"6 . Rhian’s fraction is

in its simplest form.
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Expected

5a.7,0,3

éa. False. It is 0.7
7a.A=0.8,B=0.25,C=0.3
8a.A=0.6,B=0.8,C=0.25

Expected
5b.6,4,7

é6b. True
7b.A=0.6,B=0.25,C=0.2
8b.A=04,B=0.8,C=0.6
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Expected Expected

4a. Chuan is correct. 4 is 0.8 which is 4b. Scarlett is correct. 2 is 0.4 which is
greater than 0.7. 5 greater than 0.2. 5

5a.0.5, 0.2, 0.6, 0.4. Order: 0.2, 0.4, 0.5, 0.6. 5b. 0.7, 0.6, 0.15, 0.9. Order: 0.9, 0.7, 0.6,
éa. Various answers, for example: 0.15.

:152 =0.5: 17 =0.5; 18 =05 6b Various answers for example:

12 =
20 =0.6; 048 =0.6
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3. She is correct. Steph's calculation gives an answer of 128 whereas Sean's calculation
gives an answer of 32.
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945 +1,000 = 9.45 is incomect. The comect answer is 0.945.

2,03 +10.= 0.23 s incorrect. The correct answer is 0.203.
C:450 + 100 = 4.05 s incorrect. The correct answer is 4.5.

3.10.65+10=1.065, 1065 + 100 = 1.065, 1,065 + 1,000 = 1,065
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Expected Exoected

50.152x7and 10.64,8.38 x20nd 1676,  5b.3.97 x5.and 19.85, 628 x 4and 25.12,
5.44x 9 and 48.96, 6.82 x 3 and 20.46 9.14x 6and 5484, 7.28 x 8 = 58.24

60 False. 4.86 x 6 =29.16. 6b.False. 2.59 x 7= 18.13

7a. 7b.<,>

8a.24.45 8b.45.24
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1.A.2;B.3;C.1

2. B. 44.622kg
3. Charles is incorrect. The correct order (from heaviest to lightest) should be: Delivery 1,

Delivery 3 and Delivery 2. Delivery 1 weighs 79.62kg, Delivery 3 weighs 64.372kg and
Delivery 2 weighs 64.18kg.
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5.A:rue; B: false - 1.91; C: false - 221
6.D (2.5 + 5) is the odd one out because it s equal 1o 0.51, and the rest of the
calculatfions are equal fo 1.21
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5b.221
6b.1.61:051
7b.1.0%: 241
8b.1.15





